=2 BPower
EmiRAE/ REE
KA EHR (7T E HIfE S EMAIEE R

EzBP320-SB
E @& " A
w/R B e
#1 EzBPower 4K EIR4R 1
%2  OMBEE 2
#3 M6*30mm M7 44 (e 2
#13 [EE5eEE 4
#14 LT 1
2@ aEES 416 FERLE
PA o5 Mo
ZEES GG ABEE ERRR
IEnEERk
EIRFERRE
X2
#3
00
x2 x4
#2 #13

E om R ®

oo mgs | KATIE (ERSIEINE AR
Erem g | XAEM (R %)

REEMAE R 12.6V DC
FEEHHER 16V DC
REEEMAER 16A
FEEBHER 500A
REEEATINER 200W
FEEEHTE 8000W
HEER 5mA Max.
(R REEE -40 ~ +65 °C
R REEE -40 ~ +70 °C

ERES 1.3 Kg

EmRT 1200 * W180 * H50.5 mm
BA7kEAR IPX4

EmsisE ce e

* AREERLE FHEUEERRTFEREEERRAS
FATMREBUEE RIER) ERERERRBMEESE
RASBITIBH NEEHMEREF FEHRKMIN ML
https://wwW.teamyoung.com

o ZHEEzBPowerks (KIRA R M REEMUEL S
LEZEA:

B REE 2 BEMETE 2R (BUSR: EzBP320-SF-S-1)
2.EFRER:

EREEENR AINEL4ADRERE

(BYSE: EzBP320-C114-1)

EzBPower % # ¥ BEE
A ERZEERENEzZBPowerERIBIE,
EAGRFTEREZE!
1.ezBPowerE i E EL 4R
o TIHIF & ERAERIR T BRI R s, ZiERAR R
EIRARIR TR RE S L UERRE o

EiBE: ©
BAG EERE £ if
BEE TR
OBURIZE(#2)
M6*30 mm [M7<A+Fi844
(s ZEHER] 1) (#3) EzBPowerE: 1K BEIRAR (#1)
2 .28 EzBPowerZEEith
ARERR T EIEREREEE S NN R EE TR HN
2. 1. ERERES
O SERURB R REN R EEHS AR R EHRTR R

@ &2 R B REEHR S BRI BAR R R AL EzBPowerEE
® F2h EREFZHENE HsH BRI FR B o

ERE (#13)

2.2 ZREATZESR

M6*80 mm
SR AEEIRAA (#10)

3

R THELAEESR (48)

J M6 SBEZER] (#11)

o |

RIEES (#4)

REAImRIAEARLE
ABREE =M -

MA-+AEERIRAA

(MeEEEEER) 1+ AR 1) (#12) 3EHETI 00 G @ SR, KFEZEZBPowerkIHNSER

BERGETH

GAIBEE EMRR DREES BiEe

M6*80 mm 5h7< A ERIR% (#10) T

M4+ FHEFEIR AR
(BT 1+ BT ) (#12)

S 2R-RIEREN (#4)
SRR (#5)

M6*80 mm 4h7< A ERIRAA (#10)

M6 SEEEZER) (#11)

(1) FRBAE A I © 1EFEAVIRA %o
1 EzBPower Y BBEE BHRE 1 26 ABFR
BRI EMNERE O EERG THEHER.

EzBPower
EE aBRE
@
@®
Eha EzBPower .
1E5EZENE EEREE aMRE

SR TREBE (47) o —
EMU=L Y bl




(2) FZBAEHRIENR @ 1HEARIR o
1 EzBPower Y AIBEE IEHSRAR f1 416 IEEIRER
ISR IER @ SRR M EHR.

EzBPower
416 IEERA
@

EzBPower
HABEE EHSRE
®

o/ EiMiElR

ESELAL

@ EtEGEE

EERAREITSRATEIZIERE > Batteryi s miB S A BB AR &8
Battery $5RIETE (SE4ktR)

aH EBatteryTSHRTALE: » KT EzBPower IE-RUBRRI!
BRI S RS SRR ST BB G
Battery 35BS (FRALER)

X

O FRALERBRERBAARRERRZE, NBRIAR
EzBpowerE .

4 E0isEEER S HBatteryiS TR EET &G BITIRIA
PBEBRSER
(1) BB SiFPowertSRIBBS BTG G

Power 15718 (34 E2)
Ea,ﬁsﬁsa .

()R ERIENEB B TAELH1TE Preparingle BT
=R » R~ EzBPowerA#MEIE o

(3)FRFPreparingtEMIESTIEIN (B RIEAAI1D 1),
Preparingte BRI RREzBPower A4 EBEIESTR o

Preparingfe M s21E & -

(EzBPower Z#4rBE1%H)
KABMMBEETH AIAKRESEzBPower FH4HAKHEM
EnERMIRARBBISEIHTFE!

RO R % #

mAMm

BIRMARREINAE
() R¥EE Eﬁﬁﬁ&fﬁi’]ﬁ"" R EBARRER.
QEEFHREXNT  BRERFMEE—TERRERR

R OE R OB R

(1) Bt ERRER NS BRARER S

=

Battery #8571 » IR
EthER

=

Battery 57 RiE > SR
() Bt R I (BIFARIE & IBIER)

=

Battery $5/R& » 24L&

Preparingt& B SR
(RIFBRIETER)

(2)ERERE

(4) R BE(EP--5| BIE N BB KRR
SR K EEBRRRENRS > Activeta MIBIEIR

Power 151 » B4 » RINRMEET o

(5) & MiE Eh--EzBPowerBB 4 % rh
Preparing 16m#% » MG » RiREzBPower RAR BRI EEHT

(6)?%.“&1_1’1543 -5 %8 /T iEEH
B BEWIEE T > ActivelE B =GR

(NEMEER/FEREER
Charge 541 &

O OEMEERET:
RENENTE 3049 85 [EBIEEARN3EIR.
QEMBEEERER:
RENENTE E155 i EBEERNCE1R.
(B)EMEREEBEER

- Replace JEFAL

(B)ELE] sSEiskis 1B iE@EBn2051x.

(9)EzBPowerft ERE LT

- Charge&Replace AT/ Y2

() e s WS T T SR
(10)EzBPowerR & R EER

. Replace AT Y&

(@ELE] resesmen10815%

4 B & # K8 R
5| I8N B 430 1R > Powerta mIESE K BatteryiamIESR 2 IRR,
AL BEEIES - ERAREEN DI ERER § SEMEERREE
AT HIRERE-

By e BRI MAFETE FEmIE SREARIE

T‘%Iaakak/ﬁk@%%ﬂiﬁﬂyﬁﬂ%ﬁ’%}&)\é BEHE,
LR BIRRRL Tt PTMEE R 4T > Powerfs &SRR
Battery?aTkﬁsﬁﬁﬁ RETHEARIE

EzBPower % BR & &
RHYATERRZEE AT A CRERTS | B B IF LB T/ BB R 2RIk
(1) RIZERFERREL3T » EEPowerts MBI

3 e
WA - i

Power 15/ R ESRIE , BASSERL
(2) IEFERARR R EIRE > BIRIFATEFRE M LAY EzBPower EEIRAREL
AR IERERIFARIBR2: D46 EERE QABES [EASRR
PEBATRE OREEE SRR
(3) EXHEzBPowerE 1o

W OB B
& A AE B R E HEBR A &
EERIETE: ADBES | BIRGEMGG HURTEBRIFAR, jti*FﬁIEEﬁ
1 - EEBER ERERGEARGE
/ﬂJ
EMERETE: AIREREzBPower | [EH. A& A BEHHIER"
KRIEE BRI EARESRER | RERA.
) BMERKRIER SBEzBPowerfEAgE4R
EiZZIEzBPower | BERGR TS B IERER
T,
BHMEERE BNREWRTEREIRN
ELRBAK Bith.
Chargelsmis: 41IES | BHNEEBE EMEERTE WIREE
08885305 88, IR 038 NS E N ERE
3 BREIEE.
B
Chargefemi®: DB | BEHFAERRE, |WBREEHNSRESES
¥I8eS. 1501, BI6E | {TBHAELX), |EEBHEEWRTE.
4 RRUUMFESES
. (((.,)) FHETR
Replacelsmis: ALFIES | BHNEEEBE @ FEEHRAEM TIHEESE
HR0S2S: 1802038 M E N EERE
5 ERTER.
B«
ReplacetsmiE: ALIEPIE | EzBPower&4f IBIRERIGERIE,
I8 2s: 1801088 THRE BENRREREME
E{BIEzBPowerit &;
6 . (((.,)) BRI BEREDA
F1E, AN EER,
BB B FREZBPower,
BAS S R RS R IR,
ChargefliReplacetsmi&: | EIRGTNSRAR TREREzBPowerf B IFAR
ATERIE2 xR EBEE BSRRE ERIF LA E
HEEEEIE .
7
- EzBPowerRERE | A/ EMER B EIEMR
LRARTHRE | EzBPower, &SRR
() ssess: seouose TS,
Preparingt&mi&: BIMES K | EIRARSENIRAR 1 EREzBPowerfY ERAR
EEEY BSRIRR Eﬁ?iﬁﬁIE
- B,
EMEERR BEMEERTER B IR
B,
8 EzBPowerZ 4% BIFEMERE,
THER BIBE R EAAIEE,
BENRREREME
ENEhEzBPowerit &;
BRZEEREDA
TF1E, A DBIERER,
BAt& 188 FREZBPower,
BAS IS R AR S BR IR,
EzBPowerfE A IE SRt | BIRARIASRAR 1EREzBPowerfy B JRAR
EEEY SRR T RIT LA E
9 FEEEEIE .
BHMEERR BMEERTERE R
Eith.
BIERERERRTIEE | BRARNMTRR HREREzBPowerfI BIFAR
EREY SRR T RIT LA IE
FEERERIE .
10 SEREEFAE | BAERRRNNE,
B> RENMIRIRE BENRREREME
BiEEzBPowerfEE.

Z &2 F B *F BE £ &

OEEFHZ!SEF:@TJ’E?EBQ BAERRAEN NS

° E%EEWJEFET_ETE BH B RS S RAS VIR IR 0

o FBNEBETEIBIENFL2RERRINEM Lo

o REFF AL EEFEEzBPowert 2 EIRAR BN SRAR » LUK BB AR
b=k =pl=YE

o BERGMGEREOEMNSEEE, MESMAZINIER LUY

NEMEREG KL 2

o EzBPowerZ 4B RI AEIEBE 5| EHR WU BB EzBPowerfE A an

o EARERR BRFLR NRERZEBNRIRIEHR

o BEEIMEERA T E RN E RS E IR, A TG EzBPower B

o SAMEE SRR ER

o EmEARIERE BF ILERIIETAM

o FBITIFREMING NBREFM BB ZAREIER

FCC WARNING STATEMENT

FCC STATEMENT :

This device complies with Part 15 of the FCC Rules. Operation is subject to the
following two conditions:

(1)This device may not cause harmful interference ,and

(2)This device must accept any interference received,including interference that may
cause undesired operation of the device.

ECC NOTICE :
This equipment has been tested and found to comply with the limits for a Class
B digital device, pursuant to part 15 of the FCC rules. These limits are designed
to provide reasonable protection against harmful interference in a residential
installation. This equipment generates, uses and can radiate radio frequency
energy and, if not installed and used in accordance with the instructions, may
cause harmful interference to radio communications.
However, there is no guarantee that interference will not occur in a particular
installation. If this equipment does cause harmful interference to radio or television
reception, which can be determined by turning the equipment off and on, the user
is encouraged to try to correct the interference by one or more of the following
measures:

- Reorient or relocate the receiving antenna.

- Increase the separation between the equipment and receiver.

+ Connect the equipment into an outlet on a circuit different from that to

which the receiver is connected.

+ Consult the dealer or an experienced radio / TV technician for help.
ECC WARNING :

han r modification:
for complian Id voi

=]
©
=
=]
=]

gﬁé%z;!; uu’§$f$n§ BRERE IZA=FRE BRE
g
S REHARE HDI'Fﬁ'HkRFﬁ%:&Z?ﬂE’iﬂfT@?ﬁ?‘ﬁlﬁl%ﬁFﬂ

B.
P E BRI A S SRS I R
ARAAERT 2 e A S

b.AREIHEZ KK BIMBEERABRBEH 2 18I%-
-kﬁﬁg\/ A BRMIE TSR REREFAR KEREERE
B WA SRR Ea@/ﬁédﬂﬁéﬁﬁﬁgiﬁﬂsénnz*ﬁi&°

d BBERRER B8 B BRPTEN 2 M RIAE.

e. BITIFfREZBPowertHRAE ST IER 2 1B1R-

fARHIRIE 2 (6 =R iR (E 22 g R

g1¥l§l$ﬁsﬁ’iaﬂﬁ’é ;;2&:&2, 7’§¥J¥nﬁtﬂ’3§uu°

C. ZkéunE?xT?EquTfklfﬁ'E algo

=2 BPower

EmiRiE s

EzBP320-SB

EmE

EmHLR uskns)

FEE RS

BEBH

KiHm RRER

XILE B ERENHT ARERE

HERMREVFESE FOMRTEIEFR > HIU1 912-20XXXXXXXXHI RIS EF R 20205
APH PR D P
e AFH S P OB F Tk A L 40050 184 2 -
Tel : +886-3-2805160 Fax : +886-3-2805182
https: / www.teamyoung.com

MANUAL-51-V3




